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M.A. (THIRD SEMESTER)
EXAMINATION, Dec. - Jan., 2021-22

SOCIOLOGY
Paper Foruteenth

INDUSTRY AND SOCIETY IN INDIA — I

Time : Three Hours] [Maximum Marks:80


Note : Attempt all Sections as directed.



Section-A


(Objective/Multiple Choice Question)
(1 Mark each)


Choose the currect answer.

1.   

(A)  

(B)  

(C) 

(D) 
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Who is the father of scientific management?
(A) Frederick Winslow Taylor
(B) Elton Mayo
(C) Karl Marx
(C) Devid Recordo

2.   
(A) 

(B) 

(C)   

(D) 
Who is the author of "the principles of scientific Manage-
ment?"
(A) Watson
(B) Linton
(C) Frederick Winslow Taylor

(D) Gilbert

3.   

(A)  

(B) 

(C) 

(D)  
Who wrote the 'division of labor in society'?
(A) Karl Marx
(B) Emile Durkheim
(C) Max Weber

(D) Tolcot Parsons
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 
(A)  
(B) 
(C) 
(D) 
Characteristics of Bureaucracry is-
(A) Hierachy system
(B) Specialization
(C) Division of Labor
(D) All of the above

5. 
(A) 
(B) 
(C) 
(D) 
Who was the founding father of the theory of
Bureaucracry?
(A) Max weber
(B) Herbert spensor
(C) Devid Recordo
(D) Smith

6. 
 
(A)  
(B) 

(C)   

(D) 
P.T.O.
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What is described by max weber in the book theory of
economic and social organization?
(A) Beureaucracy  theory
(B) Theory of Religion
(C) Social action Theory
(D) None of these

7.  
(A) 
(B)  
(C) 
(D) 
Who is the auther of theory ofr economic ans social
organization?
(A) Max weber
(B) Karl Marx
(C) Henary Feyol
(D) Spensor

8. 
(A) 
(B) 
(C) 
(D) 
Which of the following is not a characterstics of formal
organization?
(A) Rigid  Rules
(B) Determinant objectives
(C) Symbol
(D) Unstability
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9. 

(A) 
(B) 
(C) 
(D) 
What is an examples of formal organization?
(A) Churches
(B) Schools
(C) Hospitals
(D) All of the above

10.      

(A) 
(B)  
(C)  
(D) 
Who wrote the protestant ethic and the spirit of capital-
ism?
(A) Max Weber
(B) Karl marx
(C) Karl popper
(D) Karl Manhim

11. 

(A) 
(B) 
(C) 
(D) 

P.T.O.
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Who has given the human needs theory of motivation?
(A) Abraham Maslow
(B) Herzberg
(C) Mcgregors
(D) Gisbert

12. 

(A)  

(B) 

(C) 

(D) 
Which of the following is a impact of industrialization.
(A) Population growth
(B) Urbanization
(C) Environment Pollution
(D) All of the above

13. 

(A) 
(B)  
(C) 
(D) 
Which  sociologist believed that class is the central source
of inequality?
(A) Spensor
(B) Karl Marx
(C) Max weber
(D) Parsons
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14. 
(A) 
(B) 
(C) 
(D) 
Who is the author of job satisfaction?
(A) Hoppock
(B) Devis
(C) Smith
(D) Rondel

15. 
(A)  
(B)  
(C) 
(D) 
Rule of thumb is related to-
(A) Fredrick  Wishslow Taylor
(B) Elton Meyo
(C) Abraham Maslow
(D) Clarck

16. 

(A) X Y 
(B)  
(C)  
(D) 

P.T.O.
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Which of following is Mcgregor's theory of motivation?
(A) X and Y theory
(B) Hygiene related theory
(C) Human needs theory
(D) None of these

17. 

(A) 

(B) 

(C) 

(D) 

In which country did retionalization first originate?
(A) Germany
(B) England
(C) America
(D) Spain

18.     

(A) 

(B) 

(C)  

(D) 

Who  discovered the rationaliztion technique?
(A) Waltar Rothorenan
(B) Henery Feyol
(C) Elton Mayo
(D) Jonson
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19. 

(A) 

(B) 


(C) 
(D) 

Which of the following is not a characteristic of
retionalization?

(A) Rationlization is concerned with preventing wast-
age.

(B) To imporve the working methods of production by
rationalzation.

(C) Reducces tha efficiency of workers & employees.

(D) Increases production rate.

20. 

(A)  

(B) 

(C) 

(D) 

Who is related to the hygienic theory of motivation?

(A) Fredrick Herzberg

(B) Abraham Maslow

(C) Urwick

(D) Morgan

P.T.O.
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

Section - B

(
11
2  Marks each)



(Very Short Answer Type Questions)



Attempt all questions.

1. 

What do you understand by industrial bureaucracy?

2. 
What is meant by division of labour?

3. 

What is informal orgainization?

4. 

What is organization?

5. 

What do you understand by social stratification?

6. 

What is environment?

7. 

What is meant by motivation?

8.   

Write two characteristics of work satisfaction.
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9.  

What is technological change?

10. 

What is the meaning of automation?



Section - C   (
12
2  Marks each)



(Short Answer Type Questions)



Attempt all questions.

1.     

Explain the characteristics of scientific management.

2. 

Explain the importance of rationalization in Industry.

3. 
    

What do you understand by formal organization? Write
main characteristics of formal organization.

4. 

What is the line organization, Explain.

5. 
   

What do you understand by social stratification? Explain
the impact of industrialization on social stratification.

P.T.O.
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6.        


What is industrialization? Describe the characteristics of
industrialization.

7. 

What is work ethics? Explain the importance of work
ethics in industry.

8. 
 

What do you understand by work satisfaction? Explain
the impact of work satisfaction on labour.

9.      

Discuss the merits and demerits of technology.

10. 

What is automation? Explain importance of automation.



Section - D
(4 Mark Each)



(Long Answer Type Questions)



Note- Attempt all questions. word limit 150 words.

1. 

Explain Emile Durkheim's theory of the divison of labour
in Society.
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

Or

     

Explain taylor's scientific  management theroy.

2. 

Clarify the difference between formal and informal orga-
nization.



Or

    

Discuss the function of line organization.

 

What is settlement? Explain the objectives of settlement.



Or

      
  

Discuss the positive and negative effects of
industralization on family.

     

Discuss the types of motivation.
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

Or

   

Discuss the Mcgragor's theory of motivation.

      

Explain the impact of automation on environment.



Or

     

Explain the impact of technology on social structure.


